1) The euro was introduced by the:
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a) Rome Treaty

b) Amsterdam Treaty

c) Maastricht Treaty

d) Lisbon Treaty

2) The ability to travel from one European country to another without a passport was introduced :

a) By the Treaty of Rome

b) During the cold war

c) During the oil crisis

d) By the Schengen Agreement

3) The council of Ministers:

a) Makes every decision by unanimity

b) Is directly elected by European citizens

c) In the codecision legislative procedure is not obliged to consult the European Parliament

d) May issue, in addition to directives and regulations, decisions and recommendations

4) The Community budget is drawn up by:

a) The European Parliament

b) The European commission

c) The council of Ministers

d) The court of Auditors

5) This State is not part of the EU:

a) Switzerland

b) Estonia

c) Poland
d) Greece

6) As member of the EU, Italy:

a) Gives up limited areas of its sovereignty

b) Gave up all its sovereignty 

c) Increased the level of its sovereignty

d) Decreased the level of its sovereignty
7) Fill in the  gaps:
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	ECSC
	2)
	EEC
	ECM
	EU

	Date/place
	1951 – Paris
	1957 Rome
	1957 Rome
	1957 Rome – realized in 1968

(1987 the single market)
	5)………………….

	Aims
	1)
	To tackle the general shortage of "conventional" Energy;  to achieve energy independence.

To guarantee safety and a peaceful use
	Economic cooperation by abolishing 3)………………………. and adopting common custom tariffs towards outside. Establishing a common market
	To create free movement of 

4)…………….,

…………………,

…………………,

…………………
	To create a monetary union;            to create a political and social union




8) Connect the following information:
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	1) Debt
	
	A. The amount charged expressed as a percentage of principal, by a lender to a borrower

	2) Deficit
	
	B. The rate at which the general level of prices is rising

	3) GDP
	
	C. Bonds issued by a government

	4) Interest rate
	
	D. The total value of all goods and services produced domestically by a nation during a year

	5) Exchange
	
	E. The amount by which spending exceeds income

	6) Inflation rate
	
	F. The transfer of different currencies


9) Now, match the following requirements:
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	1. rate of inflation
	
	A. Not more than 2 percentage points above the 

rate of the three best performing EU countries 



	2. budget deficit to GDP
	
	B. No more than 3%

	3. government debt to GDP
	
	C. The exchange rate should be in a 1,5% range from the central rate 

	4. long term interest rate
	
	D.  Not more than 1.5 percentage points above the 

rate of the three best performing EU countries

	5. currency devaluation
	
	E. No more than 60% or “sufficiently diminished”


10) What obstacles had been eliminated to create the single market?
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In 1968 the first obstacle was removed: [image: image1.wmf]

                         duties disappeared within the EEC.. In 1993 the single internal market was achieved: services and [image: image2.wmf]

            began to move freely from one country to the next.
In 1995 thanks to the Schengen Agreement [image: image3.wmf]

            were allowed to travel and work freely within Europe.
By the 2002 a single [image: image4.wmf]

           was set up to make trade easier.

11) What was the fate of the European Defence Community?
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a) It became one of the pillars of EU

b) It never came into existence

c) It was transformed into the Western European Union

d) It ceased to exist in 1998

12) A high level of debt to GDP may result in:
a) A high level of inflation
b) A high level of growth and employment
c) A high level of stability

d) A high level of investments






TOT.        /31
_1477231987.unknown

_1477231990.unknown

_1477231986.unknown

_1477231985.unknown

